) ‘b J ‘ Polynomien yksinkertaistaminen

Nimi: Paivamaara: Pisteet:
4(5x3 + 7x2) —0x% + 5x — 9x? 2(7x2 — 4x3) +3x+ 8¢ — 3x°
4% + 6x° + 2(3)63 — 5x) + 8x° 3x? = 2x° +x— 8x + 6x°
8 + 4x + 3(3x + 3x) + 9x° A(4x— x)+ 6x° — 9x° — 9x
X =3 —2(x+ 2.)(3)—5)62 2(4x2 + 8x3)—x2+ Ox — 2x°
3(7x% = 9°) — 2x° + 5x+ 3x° 2% + 8% + 8x — 2(7x — 4x°)
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PAY I

Polynomien yksinkertaistaminen

Nimi:

4(5x° + 7x2) — 9x? + 5x — 9x?
20x° + 102 + 5x

4x% + 6x° +2(3x° — 5x) + &°
20x° + 4¢ — 10x

8x + 4x + 3(3x + 3x) + 9x°
9 + 30x

X =30 —2(x+ 2.)63)—5x2
—6x° — 5% — 2x

3(7%° — 9x°) — 20 + Sx + 3x?
—20x> + 2457 + 5x

Paivamaara: Pisteet:

2(7% — 4x°) + 3x + 8x — 3x°
—11x3 + 142 + 11x

3% — 2 +x— 8x + 6x?
—2x> + 9% — Tx

4(4x — x) + 6> — 9x? — Ox
6x° — 9% + 3x

2(4x° + 8x°) —x% + 9x — 2x°
163> + 52 + 9x

2% + 8x% + 8x — 2(7x — 4x?)
18x% — 6x
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